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Introductory Notes  and Key Points
I. Strategies

a. Identify elements and match them to facts
b. State assumptions if you are making them!
c. Don’t mention incomplete torts that don’t have good arguments on each side.
d. Issue Spotting: logical permutations preferable, chronological order is ok.
e. Give good arguments for both sides (be an advocate)
II. Ideas:
a. Comparison with criminal law

i. Elements are fairly straightforward

ii. Intent is relevant (although in different ways)

iii. Difference ( Accidental injuries
iv. Criminal law is public law ; Tort Law is about individual rights and duties

b. Mass Torts ( Disaster causes damages to lots of people

c. Link between tort law and regulatory law ( Polluters creating risks of accidental harm.  Is the regulatory system enough?  Environmental/workplace regulation.

d. Standard of proof ( Preponderance of the evidence (> 51%)

e. assumption of risk should bar recovery

f. contributory negligence mitigates recovery (shared liability)
g. Prima facie case: Allege facts satisfying each element, claim damages
h. Compensation as key to understanding tort law
i. security interest has priority over liberty interest 

ii. Compensate security interest first (over liberty interest)

III. Torts and Defenses

Intentional Torts:




Defenses to Intentional Torts:

Battery






Consent

Trespass






Self Defense (also, Defense of Others)

Assault






Defense of Property

False Imprisonment




Necessity (property torts)








Recapture of Chattel

Intentional Infliction of Emotional Distress
(IIED)

NOT Insanity!

Fraud

Unintentional Torts:




Defenses to Unintentional Torts:

Negligence





Comparative Fault 
Negligent Infliction of Emotional Distress (NIED)

Strict Liability (products)




Assumption of Risk (possibly)
Negligent Misrepresentation
Overview of Tort Theory

I. Two main practical objectives

a. Compensation –of injured Π; indemnity or restitution for harms; vindicate parties and deter retaliation or violent and unlawful self-help ( Restatement 2nd).
b.  Deterrence –– maximizing wealth, minimizing (discouraging) risk; tort is a very expensive insurance policy, so SL is usually bad.  Negligence liability remedies injustices and supplies incentives to deter unjust behavior.  Think Restatement 3rd.  [NOTE: argued that  criminal system captures as much deterrence as is necessary]
c. 2 justifications sometimes seem in conflict
i. Compensation would say just require injury (no need to evaluate fault).  
ii. Deterrence implies effect of injury doesn’t matter (punish conduct).  
II. 2 Theoretical justification 
a. Economic view ( Cost minimization (goes well with deterrence)

i. injuries are social costs, Precautions are social costs; regulate accidents in order to reduce accident costs.  
ii. Problem: Does a good job of explaining lots of doctrine, but lacks a good normative justification.
b. Fairness – “corrective justice,” rights based view (goes well with compensation)

i. Individual rights protected for some other reason (e.g. autonomy).  Redress for wrongful behavior.  

ii. Problem: Can’t explain Strict Liability
III. Prioritizing Interests
a. Security interest has priority over liberty interest  ( Serious injury  bigger threat to autonomy than taking precautions/paying damages
b. Strict liability is proof ( Damages without wrongful behavior, e.g. innocent trespass

c. If we start off with priority of security over liberty interest, all intentional torts are easy

d. choice between negligence and SL ( choose what better protects security interest
e. death and severe physical injury ( safety over money
i. Damages do no good for the dead; help injured, but don’t make whole

1. In practice, lower damages for death  than serious injury cases

ii. Most severe violation of security interest is not well protected

iii. Severe injuries ( damages help but they don’t make people whole

IV. The Ideal World ( Complete Protection
a. In ideal, no tort law needed ( fully consensual outcomes

b. Ideal Transaction (Driver/pedestrian)
i. Evaluating risk

1. Driver will take precaution as long as B < PL.  
2. When B > PL, will choose to take risk and pay for it

ii. Setting a price ( monetizing injury:

1. identify risk in question ( 1 in 10,000 chance)

2. Find minimum amount of money victim Willing To Accept (WTS) in order to assume, e.g. $25.
iii. Paying damages: Driver pay and pedestrian is no worse off than she would have been without the risk ( $25 compensates for risk (price or risk goes up as probability of injury goes up)
iv. Compensating for actual injury  $25 * 10,000 = $250,000 (L) 
V. Negligence liability and fair compensating for wrongful death

a. There is no way to compensate for death; Driver gets a windfall if he kills victim

b. Negligence Liability can compensate potential victim by requiring standard of care above cost-benefit amount
i. Injurer has to pay more for care, but doesn’t have to pay for full value of wrongful death
ii. Victim compensated with extra safety 
c. Punitive damages solves behavioral problems ( Forces injurer to take inefficient precautions

VI. Use of  Strict Liability when it reduces risks better than negligence
a. Negligence liability for Reciprocal risks

i. Parties are equal with respect to each other; i.e. both engage in risky behavior
ii. Highly significant risks of common activity merge into background risk of living in society assumed by each member.
iii. Victim of reasonable risk is compensated by general good and right to engage in activity (pedestrian compensated by exercise of own right to drive over time)
iv. Individuals can insure themselves against reasonable risk at lower cost than compensation through tort system
v. Strict Liability Non-reciprocal risks 

vi. Π gets no benefit from being able to perform activity in reasonable manner 
vii. Negligence rule does not provide reciprocal benefit
viii. Potential victims must be compensated for their injuries 
ix. If negligence and SL would result in identical risk levels, guarantee of compensation gives SL an advantage in these cases.
b. Evidentiary problems

i. If Π can never prove causation, there’s no incentive for injurer to take reasonable care
ii. Strict Liability provides motivation for injurer to at least take efficient precautions (B<PL)
VII. Limitations of duty

a. Security has priority over liberty

b. Scarcity – can’t compensate all injuries
c. Allocated payment to physically injured victim ( Ensures that ∆ had enough resources to compensate most important injuries (i.e. security interest violations)
d. Emotional distress ( 
i. won’t bankrupt claimant if you add a few more parties to the pool
ii. Still an injury
iii. Is by definition an arbitrary line
Intentional Torts
In General
I. Interests Perspective: 3 main interests:
a. physical security interest – includes interest in real property and chattel
b. liberty interest – moving about the world
c. interest in emotional tranquility – dignitary harms like assault.
d. If interests are equal, then the law seems to lie where it falls – in essence a fairness argument relying on normative distinction between interests
II. Motive v. Intent
a. Motive – one’s over all purpose in acting – is often irrelevant

i. Example: A punches B in the face, because he thinks pain will be good for B.  

ii. A still had intent to punch B.
iii. A committed Battery regardless of motive
iv. Evidentiary concern: Motive is difficult to determine.

v. Motive is relevant for certain defenses (e.g. self defense)

b. Intent ( The action itself that you mean to perform
i. Knowledge ( Outcome is substantially certain.
1. As long as act is substantially certain, intent is established

2. Garrat v. Dailey - Boy pulls chair out from under aunt.  She falls and gets hurt. He may not have had motive to hurt, but knowledge was there

3. Statistical knowledge does NOT establish intent – ∆ has to intend harmful conduct towards ∏
a. Example ( defective coke bottle explodes (1 in 10,000 chance).  The fact that it’s done 10,000 times will result in injury does not mean that any one act is a substantial certainty
4. High likelihood is not enough to establish intent

ii. Purpose becomes relevant in cases when result is not substantially certain.

iii. Recklessness – not an intent with substantial certainty

III. Unintended Consequences and Transferred Intent

a. Eggshell-skull rule: Liable for harm that directly results from conduct.

i. Take victim as you find him; liable for results even if not foreseeable

ii. Considered damages rule, but all damages questions are ultimately causal questions.
b. Cole v. Hibbard ( Hibbard was drunk and kicked Cole.  She did not intend to injure her.  intent is satisfied by intent to touch, not intent to cause specific damages
c. Transferred Intent
i. If ∆ had requsite intent with repsoenct to A, liable for intentional tort against any other person who is injured.
ii. Shooting a gun into a crowd of 10,000 – have malicious intent and substantial certainty of hitting somebody – doesn’t matte who victim is.

iii. Occurs across torts and victims – 

1. could intend assault to A, and be liable for battery against B

2. White shot at Tipton and hit Davis.  He intended to assault Tipton, but was liable for battery against Davis.
IV. Defenses
a. Excuses are much more limited than in criminal law – reason behind action is much less important.  More worried about compensation than culpability.
b. Consent

i. Non-consentual nature of interaction is the paramount concern of tort system
ii. Absence of consent creates concern about autonomy of the parties.  
iii. Express consent ( NO LIABILITY
iv. Implied consent –  Fictional consent – circumstances imply that person would’ve consented

1.  look for objective manifestation
2. Consent as a matter of law: implied if 1) Π unable to consent; 2) immediate action necessary to save Π’s life or health; 3) no indication Π would not consent; 4) reasonable person would consent.  

a. Emergency medical situations: conduct is justified out of concern that ordinary liability for battery will be disruptive of emergency life-saving

b. Reasonable to assume the person would want to be saved (may be Christian Scientist, etc.)
v. Capacity to consent – applies to children, disabled, etc

1. NOTE: no private right of action for statutory rape

2. intoxication may inhibit capacity

vi. Scope of Consent: - once established, question is often what did Π consent to? 

1. Scope of consent is usually an issue of fact for the jury.

2. Medical Contexts ( patient consents to specific action performed and to risks that are entailed 
3. Athletic Injuries ( Koffman v. Garnett – Football Coach tells player to stay still and tackles him.  Breaks player’s arm.  
vii. Uninformed consent may be viewed in two ways

1. Scope of consent 

2. No consent at all because of lack of awareness

viii. Substitute Consent – Parents can consent for children, incompetents
c. Self Defense/Defense of Others

i. Reasonable belief in impending harm (harmful or offensive contact; confinement or imprisonment)
ii. Imminence - prevents “self help” when possible to go to authorities

iii. Proportionality ( use reasonable force
iv. Only for protection (  NOT retaliation

v. Courts split on duty to retreat ( NO duty to retreat in one’s home
vi. Reasons to allow self help 

1. Some jurisdictions say fleeing causes dignitary harm
2. Tort remedy doesn’t fully compensate for certain harms (death) 
3. Reasonableness and balance of interests
a. Attacker ( unreasonable liberty interest

b. Bystander ( reasonable security interest 
c. Self-Defender ( reasonable security interest
d. Security is generally a priority over liberty.
vii. Aggressor cannot claim self defense, unless he disengages.  
1. If defender uses excessive force, could become liable for battery.
2. If you attack or trespass, you do not forgo all of your tort rights.  
viii. Defense of others: may use reasonable force to defend another person; split about reasonable mistake
d. Defense of Property
i. 3 elements: reasonableness, imminence, proportionality
ii. Warning required, unless reasonably appears that violence/harm will occur immediately, or request to stop useless
iii. Mistake as to danger is reasonable; mistake as to intruder’s right to be there is not.
iv. May only use deadly force if non-deadly would not suffice; reasonable belief in death/serious injury.
v. Rule: Security interest trumps liberty interest.  Defense of mere property does not justify use of excessive force (especially fungible property).
vi. Use of mechanical device will be judges by whether or not similar force would be allowed if owner was present in person.
vii. What if ∏ was stealing ∆’s life savings?
1. Discretionary money is generally thought of as liberty interest
2. level of protection increases as money becomes more important
e. Recapture of Chattels
i. 3 elements: reasonableness, imminence, proportionality
ii. May use reasonable force in cases of momentary possession (imminence/fresh pursuit):
1. Self help remedy may be more effective
2. Less likely to be mistakes.
iii. May not use force if person has had possession over period of times
1. Example ( See someone with your bike that was stolen a week ago.  
iv. Use of force only if wrongful taking ( Π cannot use force to repossess object willingly parted with
v. extreme force is justified when there is a threat to persona safety, e.g. against one who breaks into house at night.
vi. Merchants ( Can temporarily detain suspected thief for investigation – must call police after short period
f. Necessity
i. Element of choice removed because of a change in physical circumstances beyond control – e.g. forced to trespass
ii. Privilege to harm property interest of Π where necessary to prevent great harm to 3rd person or to ∆ herself.

iii. Public necessity: no compensation if acted to prevent disaster to community
iv. Private necessity:  prevent harm to self, property or 3rd person

1. actual damage: Π must pay for any damage that occurs to ∆’s property - no damage means no liability for trespass

2. owner may not resist: purpose of doctrine to prevent owner from resisting exercise of privilege
v. Ploof:: Plaintiffs tied boat to D’s dock.  D untied boat; liable for  damages.  Trespass was justified because the security interest of defendant outweighs property interest of plaintiff
vi. Vincent: Ship at end of the dock stayed in harbor when storm made it unsafe for captain to leave.  owners of ship had to pay for damages to the dock cause by the ship (internalization of cost leads to efficient action).
vii. Purposeful availment – qualitative nature of choice – ties into fairness arguments and Kantian ethics (treating others as means instead of ends)

1. Trolley Driver Problem – switches track to kill 1 person instead of 5.  That 1 person did not have to be on tracks to save the other 5 – he was a coincidence.

2. Surgeon harvesting organs – kills 1 to save 5  That person had to be killed to save the other people, but there was purposeful availment 

g. Insanity ( NOT a defense, except for reflex actions

Physical Harms
I. Battery  ( intentional infliction of harmful and unlawful bodily contact
a. Elements:

i. Act

ii. Intending to cause 
1. harmful contact , or

2. contact with victim that is offensive; and

iii. Act causes such contact

b. Differs from Assault, in that assault requires apprehension of the harm
c. ∆ need NOT intend to physically harm Π
d. Herr v. Booten ( Day before 21st B-day, Herr’s friends took him out, bought him alcohol.  He drank too much and died.  Ruling: Supplying alcohol to someone before 21st birthday is negligence but there was no battery.  No intent: no knowledge (substantial certainty) that Herr would chug the bottle of JD

e. Π need not be aware of contact as it happens; e.g. still a battery if ∆ kisses Π while Π is sleeping

f. Offensive contact:  Some battery cases are based on offensive contact that is not necessarily harmful.  Example ( Spitting in face 
i. Still an interest in physical integrity/safety.

ii. Dignitary harms raise more complex questions - Social context matters 

g. [Intent for assault also satisfied intent for battery if contact occurs]
Dignitary/emotional harms 

II. Assault  ( intentionally causing apprehension of imminent harmful/offensive contact
a. Elements

i. Act

ii. Intending to cause apprehension of:

1. imminent harmful contact, or

2. imminent offensive contact; and

iii. Act caused such reasonable apprehension 
b. Differs from battery  ( Assault must only create apprehension of imminent physical harm in defendant 
c. No requirement of malice or intent to harm.
d. [Intent for battery satisfies intent for assault]
e. Π must be aware of danger.  Apprehension of harm to third party will not be an assault.
f. Key concepts: Apprehension, reasonable, Imminent 

i. Imminent: “I’d break your neck if it was Friday,” is not an assault if it’s not Friday.  Could still have emotional distress claim if not imminent
ii. Apprehension: 

1. This can come from words, acts, etc.
2. Apprehension is NOT FEAR
a. Example: Even if A is sure he can overcome B, B can still assault A.
b. Battery protects from the fear of intentional physical harms.
c. Assault protects from the apprehension of battery.  
iii. Reasonable
1. Links to requirement of intent ( If A knew B was watching movies all day long and tapped him on shoulder with intent to scare, reasonable apprehension
2. Varies with social context – classroom vs. playground; haunted house on Halloween; sports games (consent as a defense)
g. Brooker v. Silverthorne -  Man threatened phone operator that if he was there he would break her neck.  No assault  - fear of harm was not justified.  
III. False Imprisonment  ( intentional infliction of confinement
a. Elements:
i. Act

ii. Intended to obstruct or detain

iii. Act obstructs or detains

b. No liability for negligently/unintentionally creating imprisonment, unless serious injury caused
c. Does NOT require force – threats, coercion, assertion of legal autority enough
d. Π must either be aware of confinement, or suffer some injury

e. NOTE: competing liberty interests.  Kidnapper’s unreasonable liberty interest vs. victim’s reasonable liberty interest
f. Merchant necessity defense: holing person he wrongly believes is shoplifting
i. Originally, liberty and economic interests thought to be equal – loss lies where it falls.
ii. shoplifting became a big problem, owners needed to be able to detain people and investigate
iii. Reasonableness: reasonable method, reasonable belief, reasonable time
IV. Infliction of Emotional Distress intentional or reckless infliction, by extreme and outrageous conduct of severe mental or emotional distress.
a. Elements 

i. “Extreme and outrageous conduct”
1. such that “a reasonable person can’t endure” – presumption that it would harm
2. “beyond all possible bounds of decency”
ii. Intent to cause emotional distress.
1. desires

2. substantially certain

3. recklessly disregards high probability
4. transferred intent is limited: Π must be immediate family member of victim, present, , and Π’s presence known to ∆
iii. severe emotional distress occurs as a result of conduct

1. Π must show that she sought medical aid
2. usually does not have to prove resultant bodily harm
b. Interests – Π’s emotional tranquility vs. ∆’s liberty

c. Parasitic damages.  Compensation for emotional harm that accompany a predicate tort,  
d. Recognized later than other torts because:

i. injuries are not as manifest

ii. Emotional harms are an inevitable part of living in society

iii. Change in social circumstances (subsidence of gendered perspective)

iv. Original torts were made to prevent self-help/physical violence.  As concern disappears, there is ability to deal with “secondary issue

e. Concerns: False Claims, coordination with existing causes of action, Impact on behavior of duty holder.

f. Neglignet Infliction of Emotional Distress (NIED)
g. Dickens ( 31 year-old man has sexual relationship with 17 year-old girl.  Parents lure to desserted area, beat up, threaten castration if he doesn’t leave town.  Complaint filed after SOL for assault (effects harder to discover, so longer SOL).  Holding:  Plaintiff should be allowed to bring action for emotional distress – continued threat on his life goes beyond assault
h. Littelfield v. McGuffey ( Π is moving into apartment; Black boyfriend comes with their daughter to pay for installation. D refuses to rent, calls Π pretending to boyfriend, harasses Π’s sister.
i. Doe 1 v. Roman Catholic Diocese of Nashville: RIED ( Π’s molested by priest after terminated sue Church sue for Reckless IED (Church didn’t disclose facts about past).    Court lets Church off – no intentionality; conduct not “directed at” bystanders (parents).  Justification for ruling is elusive: limit # of victims, because you don’t want to “chill” behavior, but this is not the type of behavior we worry about chilling.  In reality liability should be limited to prevent bankruptcy and ensure compensation to actual victims.
Property Torts (Possessory interests)
V. Trespass to Land
i. Elements:

ii. Π owns land
iii. ∆ either enters Π’s land w/o permission; or remains on Π’s land w/o right (even if entered w/ right); or puts an object on (or refuses to remove object from) Π’s land.
iv. Intent
1. Intentional trespass
2. negligent trespass treated as negligent
3. innocent trespass: ∆ intends to be on land, and land belongs to Π 
b. NOTE: Innocent Trespass and Strict Liability: 
i. historical conditions – gave courts opportunity to mark property lines
ii. Punitive damages:  compensatory damages are nominal, but they allow for court to impose punitive damages
iii. Property rights includes right to exclude
iv. Protection of that right requires punitive damages.  Otherwise, people will just trespass and pay nominal fee every time.
c. Trespass to airspace: plane flies within immediate reaches of airspace (below federal minimum altitude), and substantially interferes w/ Π’s use and enjoyment
d. Particles and gasses can be considered objects and courts consider them causing them to enter property trespass.
e. Burns Philp Food v. Calvea Contl. Freight.  FACTS: Calvea counter-claims for fence mistakenly built on their land  Holding: Burns Philp is liable for trespass because of fence, even though it was accidental.  (Trial court wants to require notice to trespassers, but higher court overrules)
f. Tresspass to chattel –  Intentionally interfering with use or possession of chattel
i. No physical harm requirement – must still pay for Π’s loss of possession
ii. assumption that one can hide chattel to keep it safe
iii. ∆ must only pay damages – not full value of property
g. Conversion – intentional interference w/ Π’s possession or ownership so substantial that ∆ should be required to pay full value.
i. ∆ must intend to take property.  Mistake of ownership NOT a defense
ii. 4 factors to differentiate from trespass to chattels:

1. duration of dominion
2. good or bad faith

3. harm to property

4. inconvenience to Π

iii. Ways to commit

1. acquiring possession (purchasing stolen goods is usually coversion)

2. transfer to third person (delivery by messenger service to wrong person)

3. withholding good – refusal to return goods to owner for substantial time (e.g. parking attendant refuses to return Π’s care for a day)

4. destroys or fundamentally alters good
iv. Remedy is forced sale: ∆ pays value for goods but gets to keep them.
Strict Liability
I. Theory

a. Reciprocity – private gain enhances public good; SL is appropriate in instances of dangerous behavior b/c such behavior is non-reciprocal.  (In negligence, it is OK not to pay injured party in non-negligently caused car accident b/c injured party may be on the other side next time.)
b. Evidentiary Problems – in cases where there would be evidentiary problems w/ negligence rule, best way to ensure safety is w/ SL, but must limit this to what is reasonably foreseeable, not absolute liability.
II. Worker’s Comp – evidentiary problems
a. As industry grew, workplace injuries became commonplace

b. Scientific development led to view of workplace as a manageable system.

c. Workers couldn’t win lawsuits because evidentiary burden was too great

i. B < PL

ii. Must evaluate workplace set-up and propose alternative that is safer.

d. States imposed workers comp. regimes for public policy

i. Plaintiff no longer has burden of proof.

ii. Employer has two choices:

1. pay for safety precautions

2. pay for the injuries ( cost of doing business

iii. Employer will institute changes when it is efficient to do so.

1. Creates incentives for employers to make conditions safer

2. Under negligence, there was no such incentive, because Plaintiffs couldn’t succeed in proving 
e. Tradeoffs for both sides

i. Workers are trading their tort right (variable with high damages) for workers comp (fixed right with limited damages)

1. 2/3 of wages under workers’ comp.

2. No damages for pain and suffering.

ii. Employers now have to pay for all injuries, but the damages are limited.

f. NY Central RR Co v White – Upholds NY Workers’ comp regime as constitution.

III. Uncommon Usage (Reciprocity) ( Reylands v. Fletcher
a. Reylands ( Miller who installed a reservoir.  There were abandoned mining tunnels under his property.  Reservoir leaks into tunnels and floods mine shafts.  Strictly liable
i. Distinction between natural and non-natural use ( something that man has brought onto the land and it escapes and causes mischief

ii. Over time courts began to understand “non-natural” as risky and uncommon.

b. Others are not able to protect themselves (so what?)
c. Reciprocity Rationale (
i. risks that are common in the community: both parties are likely to engage in them – equality (loss lies where it falls)

ii. “abnormally dangerous” and “not common in the community” create an inequality: Actor is doing something exceptional, it imposes an unequal risk.  It’s fair to make actor pay for inequality

d. Parallells to workers comp:
i. negligence regime doesn’t provide proper incentives

ii. SL regime provides incentives for reduction in risks.

iii. There is a safety rationale for the choice in regime.
IV. Negligence v. Strict Liability
a. Negligence – reasonable care determined by external standard.  Reduces risk below level that would exist in fully compensatory world; compensates for death and serious injury with added safety

b.  Strict Liability – reasonable care determined by internal standard.  Reduces risk to a level that balances cost-benefit equation, appropriate for abnormally dangerous (non-reciprocal) activities and evidentiary gaps

c. If ∆ has more information about components of care than the court, apply SL, if court or Π has more information, negligence should apply.

Negligence
I. Elements
a. Duty – Question of law ( Did ∆ owe a duty of care to Π to prevent/avoid harm?
b. Breach – Did D’s conduct fall below applicable standard of care?
c. Injury – Did Π suffer injury?
d. Causation – was failure to meet standard of care the cause of harm to Π?
DUTY
I. Duty in general
a. Economic calculus ( Duty when B<PL

b. Question of law – decided by judge
c. Even if there is unreasonable conduct, causation and injury, lack of duty means no liability 
d. “Easy” duty ( physical injuries.  Obvious that driver must be careful
e. Reasonable foreseeability ( If you can foresee it, you can prevent it.
i. It will determine what types of risks actor will contemplate in deciding whether or not to take a certain safety precaution

ii. Objective standard ( What you should have thought about.
f. Privity ( requiring a relationship between tortfeasor and victim 
i. Severely limited liability in early common law (Winterbottom – wheel manufacturer not liable for injuries to coach driver, since he didn’t buy part himself)
ii. Imminently/inherently dangerous products – Thomas v. Winchester recognized duty for products that are likely to cause harm (e.g. poison)
iii. Privity Requirement eliminated in Macphaerson v. Buick Motors
1. manufacturer has duty to end user
2. social conditions
iv. Duty to foreseeable third parties ( Mussivand v David ( ∆ sleeps with Π’s wife.  He gives her STD – she gives it to husband.  ∆ held liable – duty

g. Reasons to limit duty

i. Bankruptcy ( too much liability keeps important victims from collecting

ii. Social costs ( allowing lawsuits to go through could impair social valuable activities (Strauss v. Belle Realty Co. – Π sues power company for injury during blackout)
iii. Economic rationale ( won’t create safety benefit

h. Social Costs of Duty

i. Impact on third-party relationships

ii. Grounds for limiting liability of defendant

iii. Ripple effect on behavior could be an adverse consequence.

i. Alternatives  to duty (three):

i. Bright line rules

ii. Raise evidentiary burden placed on plaintiff (see emotional distress cases later)

iii. Adopt a strict liability rule ( would avoid all of the evidentiary problems that Henderson identified.  Instead of denying liability, change the liability rule.

II. Failure to Act

a. No general duty toact

b. Exceptions

i. Business premises ( must furnish warning and assistance to business visitor (applies between employers and employees)
ii. ∆ caused injury ( duty to assist, even if acted w/o fault.

iii. Assumption of duty ( once ∆ begins to rescue, there is duty of reasonable care

1. dissuades others from assisting
2. mere promise to assist may create duty if Π has reliance interest

iv. Duty to control others ( e.g.  children

c. Special relationships (Tarassoff- therapist fails to warn victim that patient expressed desire to kill her)

i. Relationship creates an“affirmative duty”

ii. In Tarasoff, it’s hard to argue that doctor created risk; he perhaps could have controlled it.

III. Premises Liability: Duty to others on property:
a. Trespasser: 
i. Can’t engage in intentional or reckless conduct that would result in harm to trespasser.

ii. No negligence liability

iii. Exceptions: 

1. constant trespass on limited area (creates constructive knowledge); e.g. railroad knows tresspasers have worn a footpath across tracks

2. discovered trespassers; e.g. conductor sees trespasser on tracks
3. trespassing children; e.g. duty to fence swimming pool
b. Licensee: Landowner has given consent; social guests
i. constructive knowledge of presence; e.g.  City knew people were swimming in/using 
ii. failure to take measures leads to implied consent
iii. Duty of care:
1. Refrain from harming them
2. Duty to warn of dangers that are not obvious (latent hazards, traps)
3. Duty of reasonable inspection; liability for condition of the land.  Actively creating risk, or intentionally altering condition of land in a harmful matter creates liability  
c. Invitee: on land with owner’s permission, material benefit to landowner 

i. ex. Customer in a store, visitor to the MOMA
ii. ordinary duty of care: Maintain the land so it is reasonably safe (affirmative action required to repair defects)
1. duty of reasonable inspection

2. Duty to protect from third parties

iii. Open to the public ( duty to all those who enter area open to public (even unsolicited salespeople who come to shop)
iv. Scope of invitation ( person who uses private bathroom not open to public becomes invitee
d. Justifying the categories ( Invitees have most protection because they are providing a material benefit.  Trespassers are less foreseeable.
e. Minority of courts have Rejected categories in favor of reasonable person standard Rowland v. Christian (man cuts hand of bathroom faucet)( argues to abolish categories.  Just because a man is a trespasser, the value of his life and limb is not less.  
IV. Pure Economic Loss
a. No duty to compensate for pure economic loss

b. Floodgates problem

c. Predictability ( don’t know consequences of actions; makes it impossible to do accurate B<PL calculation

d. Bankruptcy Problem  ( limit liability because more important to compensate physically injured Πs.

e. Modern exception: 
i. Injury to Π was foreseeable
ii. Identifiable limited class – limited number of Πs would permitted to recover

iii. Blameworthy conduct committed by ∆

V. Pure emotional Harms
a. ED may seem like a social costs similar to pure economic loss

i. No physical injury

ii. Huge number of possible claimants

b. Accompanied by Physical Impact
i. Liable for all emotional or mental suffering that flows from physical injury caused by ∆

ii. Parasitic damages
c. Mental suffering w/o physical impact
i. Nearly all courts deny recover where there are no physical symptoms
d. Physical injury without impact
i. When ∆’s negligent act physically endangers Π, does not physically harm, and causes emotional distress with physical consequences, there is right to recovery (Robb – man’s car caught in rut by RR tracks, oncoming train)
e. Fear for safety of others ( courts are split.  Some allow recovery for those in “zone of danger” (pedestrian almost hit by care can recover for ED from seeing her child hit).
VI. Duty to the unborn ( can infant recover damages
a. Child born alive ( can recover for damage in utero (DES Cases)

b. Still-born ( courts are split on recovery

c. Pre-conception injuries ( courts are split on recovery

Breach – Reasonable Care Requirement

I. Unreasonable risk ( Π must show that ∆’s conduct imposed unreasonable risk at the time of action.  Hindsight doesn’t matter.
II. Reasonable person  ( Objective standard.    inHHMust be what a reasonable person of “ordinary prudence” would do.
a. Effectively creates SL for those unable to conform to reasonable person standard, indicating that they should not engage in a given activity. 
i. Evidentiary problem ( Have to judge by something outside of the person’s own head.  People may lie about their own situation/capabilities
ii. Reciprocity problem ( some people doing certain activities is overly dangerous (e.g. blind person driving)
b. Creates reciprocity –  we act assuming that everyone else will also act reasonably.
c. Subjective standards – usually favor defendants by reducing liability.  There are cases in which we don’t want to create SL for particular class of Π’s.
i. not abnormally dangerous
ii. socially common activity
iii. No further desirable deterrence effect from SL
d. Expertise (  Usually a higher standard.  Person is held to standard of an expert in that field.  If there is not enough evidence to show they used average standard of care, prove the didn’t meet minimum standard of care for profession. med/mal and informed consent)
e. Disabilities (  held to standard of person with that disability
i. Physical characteristics
ii. Mental characteristics
f. Intoxication is NOT  defense
g. Children ( child is held to reasonable person of age/experience.  Held to adult standard in potentially dangerous adult activity (dangerous activity normally pursued by adults – e.g. motorcycle)
h. Custom ( has evidentiary value but not conclusive.  Custom is nothing more than economic choice made by actors in market place – bad choices made because of incomplete information
i. ∆’s side: showing that everyone else in industry did same thing is not necessarily exculpatory (T.J. Hooper – tug still liable for not having radio, even though not industry standard to have one).  
ii. Π’s side: proof that ∆ did not take same precautions as rest of injury is suggestive of negligence, but NOT conclusive
i. Medical Community doctors get to decide their own standard of care through guidelines. 
i. Medical profession can do this because they are in business of selling safety; incentives to provide too much safety.

ii. HMO Control may turn doctors into normal economic actors – no more reason to rely on custom w/in medical community.
j. Emergency ( must behave like a reasonable person would in such an emergency (where quicker action is required and less time for reflection
k. Should anticipate the conduct of others ( assume others will act reasonably (reciprocity); may have to anticipate negligence by others; not required to anticipate crimes (unless has special knowledge)
III. Learned Hand Formula ( B < PL
a. Carroll Towing  ( Barges are tied to the piers one to the next and tied to pier behind.  Tug is sent out to undo end barge, disengage cross support line between piers.  One barge crashes into a boat and sinks
b. The three variables
i. Limitation of comparison
ii. B shows that we care about ∆’s liberty interest
iii. PL equation allows precautions to vary – ex. Need better precautions against frozen pipes bursting in colder climates
c. Cost benefit exercise forces you to systematically think through all the advantages and disadvantages of the proposed courses of conduct.  There must be a tradeoff – how to tradeoff is a hard question, but the process here is at least systematic.

d. Evidentiary burden ( Π should show how ∆ could have taken more precautions, e.g. woman sues hotel for negligence when someone broke into room.  How should hotel have prevented this?  Greater security?  Better locks?  Checking if door was locked?

IV. Real Negligence Standard is B > > PL

a. B>PL says that liability is about minimizing social costs – Doesn’t comport with common notions of fairness.  Studies find over and over that people find cost-benefit tradeoffs unfair, inappropriate, and/or reprehensible.
b. Normative justification – interests
i. Favoring security interests over liberty interests leads to “disproportionately greater than” standard (B >> PL).  
ii. Force defendant to respect Plaintiff’s rights, and prioritize physical security interests.  
c. Punitive damages: If D makes decision to be negligent, he will be his with punitive damages

i. Law will force D’s to abide by negligence standard greater than cost-benefit
ii. Behavioral component of negligence law is important: payment of damages doesn’t excuse you of behavioral requirements

d. Negligence Per Se
e. Unexcused violation of safety statute by ∆ is “negligence per se,” and conclusively establishes liability.

f. Statute must apply to facts.  It must be meant to guard against the very kind of injury in question

i. Π must be a member of the class of persons it was designed to protect
1. Sometimes, however,  courts will extend logic of statute (Bayne ( statute says guardrail to protect “employees” but includes invitees)

2. Statute Must have been meant to protects against particular kind of harm for which Π seeks recovery

3. Victor v. Hedges – parking on the sidewalk regulation was meant to prevent injuries from walking around cars or bumping into them, not being hit by another car that drives up onto curve.

ii. Gorris v. Scott – violation of statue to pen animals on  ships meant to prevent disease not negligence per se if animals wash overboard.  This seems illogical – fence required for limited purpose should cover greater purpose as well.

g. Safety Exception:  Sometimes violation of the statute is for a safety reason.  

h. Additional exceptions: ∆ was reasonably unaware of occasion to coply, made a diligent attempt to comply, or the was an emergency (example: owner of care has no way of knowing his breaks are out, in violation of regulation requiring functional brakes).

i. Compliance with statute is NOT dispositive of claims against ∆.
j. Some jurisdictions recognize contributory negligence per se ( if Π was violating statue at time of accident 

V. Res Ipsa Loquitur
a. “The thing speaks for itself” ( allows Π to point to fact of accident and create inference that ∆ was probably negligent.  Allows negligence on  circumstantial evidence
b. Byrnes v. Boadle ( barel of flour falls out of window of ∆’s shop onto Π’s head as he walks by on street below.  Barrels don’t usually fall w/o negligence.  ∆ must show that barrel didn’t come from his shop, or was not dropped by negligence.

c. Three elements
i. Injury doesn’t ordinarily result from absent carelessness on someone’s party

ii. exclusive control by ∆
iii. No contributory fault from Π
d. Additional elements:
i. No direct evidence of how ∆ behaved in connection with event

ii. Come courts require that evidence of what really happened be more available to ∆ than to Π

e. Res ipsa allows case goes to jury (meets burden of production).  Without res ipsa, would be directed verdict for ∆
f. Rebuttal Evidence: 
i. Evidence of due care – NOT enough for a directed verdict; will still go to jury

ii. Rebuttal of res ipsa requirements - ∆ can get direct verdict of no other prima facie case
Causation
I. Causation In FACT
a. Even if there was duty and breach, Π must show that the breach was a “but for” cause of his injury; if ∆ had not acted negligently, Π’s injuries wouldn’t have resulted.
i. No causation in not throwing life preserver if Π wouldn’t have been saved anyway.

ii. There is still “but for” causation when there are multiple tortfeasors
b. Less than 50% chance Π would’ve been saved: (life saving cases); 

i. Minority rule allows for discounted recovery.
ii. “If D’s conduct increases risk of harm, and P suffers injury of the type that would have been caused by that harm, then it goes to the jury” 
iii. Beswick – (corrupt 911 operator case).  Must simply prove more likely than not (51% chance) that there would have been a 34% chance of survival if ∆ was not negligent.

iv. Proportional damages - ∆ should only pay for expected value of non-negligent action.  Example: 3 sailors go overboard and precaution would’ve enabled ∆ to save one – pay 1/3 of each life.
v. Tension between risk compensation and injury compensation

vi. Med/mal rule ( compensate patient for chances of survival  w/o negligence.  Over 100 case, doctor (theoretically) will be liable for all lives lost.  

1. Rule justified by systematic defect.  If there was a 37.5% chance of survival with added procedure, doctors will never pay for failing to perform.
2. Minority Rule ( most argue unfair for doctors to have to cover 100% of loss in cases where probability of survival was 51%.
c. Concurrent causes: Can meet “cause in fact” inquiry, but not the “but for” cause inquiry – two evens occur simultaneously, one of which is sufficient to cause damage  (e.g. two fires joining).  Each is deemed a cuase in fact.

d. Counterfactual Inquiry: Difficulty with finding cause in fact is that it requires construction of a fictional world without the cause present.  This can sometimes lead to difficult evidentiary burdens.

e. Multiple Tortfeasors ( Joint and Several Liability
f. Theoretical justification for liability of multiple ∆’s
i. Each D owed a duty to P
ii. Each D breached that duty to P
iii. Each D was a substantial factor, or contributed to the injury suffered by P
g. Joint Liability ( both D’s are liable, join in paying damages.  

h. Several liability ( In principle, doesn’t require ∆ to pay for full damages.  D may only be liable for his share of damages.

i. Joint and several liability ( If more than one person is in proximate cuase of Π’s harms, and harm is indivisible,  each ∆ is liable for entire harm.   can sue either all or one of defendants.  Can’t get over 100% compensation (one can pay all damages, or multiple D’s can split damages).

i. Π cannot recover twice – entitled to “single satisfaction”
ii. If harms are divisible, they will be apportioned amongst the tortfeasors

j. Apportionment
i. Action in concert:  ∆’s acting in concert each liabile for injuries directly caused by other (no apportionment) ( e.g. drag racers

ii. Successive injuries separated by substantial periods of time leads to apportionment.

iii. Overlapping:  ∆ who caused initial harm is liable for whole thing; ∆ who caused later harm is only liable for amount by which he worsened harm; e.g. ∆1 negligently breaks Π’s arm; ∆2 negligently sets it so it has to be amputated.  ∆ 1 liable for everything; ∆2 liable for difference between broken and amputated arm.

iv. Death and fire are paradigmatic indivisible harms
k. Contribution  ( If one ∆ pays more than his pro rata share, the other can obtain partial reimbursement.   Usually limited to unintentional torts; Contribution ∆ must be liable; split about what to do if D1 settles and D2 sue for contribution after subsequent judgment.
l. Action for indemnity ( D1 sues and D2 covers D1 in full

m. Joint and severable liability allocates risk that one D is judgment-proof to the other D’s instead of allocating risk to Π

i. Allocating risk of insolvency to culpable D, rather than P who suffered injury

ii. Fair to impose liability on ∆; w/o his negligence, there wouldn’t have been injury.

II. Market Share Liability
a. Alternative Liability ( Multiple Fault
i. If one of two ∆’s injured Π, but can’t prove which particular ∆ caused the harm; ∆’s must split the damages equally. 
ii. Each ∆ pays share of damages relative to his membership in group

iii. Requires Joinder of all potential ∆s
iv. Reconceptualize identity of ∆ – must prove (51%) that group caused injury

v. Burden shifts to each ∆ to show that others caused harm

vi.  In Summers, man was negligently shot, but impossible to prove which ∆ actually hit him – they split damages.  
b. Market Share theory ( Products liability (prescription drugs)
i. Π cannot prove which of 3 or more producers of defective products caused his injury
ii. Can show that each of ∆s made defective product
iii. Court will assign liability for % of injuries proportional to ∆’s % of market sales of product at time of injury.
iv. Courts split on exculpation by proving that ∆ did not make particular item in question (e.g. Π’s pharmacy used another brand)
v. Court use national market share to determine share of liability
vi. NOT JOINT ( Don’t need all tortfeasors to take action
vii. NOT joint-and-several liability ( Π can only collect from any one ∆ that ∆’s share
viii. Socially value cuts against market share; e.g. courts likely to reject in case of vaccine
ix. Controversial ( Only accepted in half the jurisdictions in which it’s been argued.  Still, if you don’t accept this analysis, then there must be some other justification for Summers.
III. Vicarious liability

a. Elements:
i. Principal – agent relationship: Employer/employee; master/servant

ii. Agent acting for w/in scope of  enterprise (intent to further employer’s business interest); or

iii. Risk characteristic of business enterprise

b. Liability for reasonably foreseeable detours (5 min trip to buy cigarettes)

c. Liable for forbidden acts done in furtherance of employment
d. NOT liable for intentional acts done for personal motives
e. Theory: Since agent can bind principal by acts, then principal ought to be bound by torts committed by agents

f. Early courts thought exclusively in terms of agency law

i. as long as agent was actingw/in scope of agency

ii. Had to be operating for benefit of employer

g. Narrow view rejected in Bushey
i. drunken sailor comes back to Brooklyn from drinking in Manhattan and damages dry dock

ii. Clearly sailor was not acting for benefit of US gov’t, nor to further any purpose

h. Characteristic risk ( What does this mean?

i. Example: military leave.  Relief of job stress leads to excess drinking.
i. Employee Compensation perspective: There are inherent risks of tortuous action in job (e.g. road rage for FedEx driver.  Employer covers liability as compensation (instead of paying employees more money)

j. Vicariously liable employer can sue employee for contribution or indemnity

i. Any vicariously liable principle has an action against agent that causes torts

ii. In practice action is rarely exercised (Empirical proof of claim that employees would want additional compensation if they were to be held liable.

Proximate Cause

I. Policy Decision

a. Tortious actions have far-reaching  and improbable consequences

b. Proximate cause says that ∆ should NOT be responsible for all causes that are unforeseeable; e.g.∆ hits car – happens to be full of dynamite, which causes explosion - nurse 10 blocks away drops a baby.  ∆ not liable to baby
c. Can be multiple proximate causes

II. Directness Test
a. Indirect cause it NOT the proximate cause of the injury

b. Is there a difference between directness and proximity test?  

c. Differ for risks that are direct results but nor foreseeability.

d. Polemus Cause
i. FACTS:  Plank being raised by a winch falls.  Boat full of benzene.  Spark from fall starts explosion and ship burns

ii. Cause of fire is direct.  Plank falling causes spark that starts fire

iii. But unforeseeable that plank falling would cause a spark and start a fire

iv. Conduct was unreasonable because of a certain kind of risk, but not the risk of what happened

III. Foreseeability Test
a. Consequences must be foreseeable. 
i. If risk is not of the type that makes conduct negligent, then there is no liability

ii. Risk is outside duty of ∆; It’s an unforeseeable risk – breach not proximate cause.

iii. To impose liability for unforeseeable risks is out of line with duty (B<PL)
b. Wagon Mound: Oil spill is ignited by workers repairing another boat in the harbor using torches.  Spilling oil was tortuous conduct.  Held that burning dock was not foreseeable; overturned Polemus
c. Union Pump (  Defective pump causes fire.  Fire is put out, but  P slips and falls afterwards because of water on the floor.  Most helpful way to conceptualize ( we don’t want fires because people could get hurt putting the out.  Outer bounds: but still engaged in putting gout
d. Problem: Foreseeability is already a test for duty.  Isn’t this redundant. Difference is consequences of inquiry ( duty question goes to judge; causation goes to jury.
IV. Foreseeable Plaintiff  ( Palsgraff
a. ∆ is only liabile for injury to foreseeable plaintiff.
b. Geistfeld: Look at risk that rendered the conduct negligent – different than risk that caused harm to Mrs. P.

i. No connection to risk that made the conduct negligent and risk that caused in jury
c. No different than can of nitroglycerin falling on somebody’s foot, or snow swirl case.
d. Opinions framed in terms of duty: Cardozo (majority) says this is a case about foreseeable victim; Andrews (dissent) says this is about universal duty – RR had a duty to Π as a customer.
e. Common interpretation ( Cordozo gets right result, but it’s about proximate cause/foreseeability.  
f. Geistfeld ( politics: does question go before judge or jury?
V. Risk Rule

a. Once you push the risk rule, it’s hard to understand difference between directness test and foreseeability test.
b. Easier than counterfactual inquiry required for cause in fact inquiry
c. Is the type of risk the duty to take reasonable precaution was meant to prevent?
d. No liability if there’s mismatch between kind of risk and actual injury.
e. Example #1: Mislabeled can of poison case in P’s kitchen explodes because it’s near a stove.  
i. Cause in fact: Same accident would have happened if properly labeled can of poison was left above the stove.

ii. ∆ shouldn’t be liable for mislabeling
iii. Example #2: Can of nitroglycerin on edge of table that falls off and breaks Π’s foot.

iv. Cause in fact: It would not have been negligent to put a heavy can on the edge of a table.  Negligent conduct isn’t a cause of the injury.

v. Risk of explosion is the main concern
vi. Still liable if injury is general class of harms but  it occurred in an unusual manner:
vii. E.g. If ∆ gives pistol to child X, and X drops it.  He is liable to Π who is hit by shot (getting shot is type of risk), despite that it occurred in strange manner.  ∆ is not liable to Y whose foot was broken because child dropped pistol on it.

viii. See Kinsman ( flooding of town was a concern when ship got loose, despite strange manner in which scenario played out
VI. Intervening cause (
a. Force which takes effect after ∆’s negligence and contributes to producing Π’s injury

b. not always clear how intervening cause differs from “direct cause”

i. If intervening cause if foreseeable, D is liable

c. “superseding cause” ( intervening cuase that is sufficient to prevent ∆ from being negligent. Unforeseeable intervening cause.
i. Often an unforeseeable intervention with unforeseeable results

ii. Extraordinary Act of Nature  

d. A third person’s criminal or negligent behavior may be considered foreseeable and might not exonerate ∆ (e.g. foreseeable that care will be stolen if you leave keys in ignition

e. Natural responses are often NOT superseding causes
i. Escape
ii. Rescue – may be liable to rescuer or rescued as long as rescue was not performed in a grossly careless manner.

iii. Aggravation of injury from medical treatment: liable unless gross mistreatment

f. Liable for unforeseeable intervention with foreseeable result.
Defenses to Negligence
Contributory Negligence ( Comparative Fault
a. Contributory negligence
b. Originally Common Law  Denied Remedy to any Π who was found to have contributed to the injury through his own negligent behavior

c. Complete defense

d. Conceptually: Single tortuous cause of injury

e. Smith v. Smith – wood pile negligently left in middle of road.  No liability because Π was driving carelessly

II. Analysis of Multiple causes

a. matrix

i. Dn +  Pn = Injury

ii. Dn +  Prc  =  No Injury

iii. Drc + Pn = No Injury

iv. Drc + Prc = No injury

b. SymmetryAny argument D could make, P could make in reverse
i. ∆ says consider rows three and four

ii. Π says consider rows 2 and 4

iii. To single out the P as being the cause would be unfair, because D caused it to the same degree

iv. That unfairness led to establishment of comparatively responsibility
III. Last Clear Chance
a. Early answer to contributory negligence

b. If D has last clear chance, then he is responsible

c. D comes upon P, knows that P was contributory negligent, D has last clear chance to avoid accident

d. temporal relation of actions

i. Actors must make an assumptions about what other actors are doing.

ii. Ordinarily, when decisions are made, neither side knows what the other is doing

iii. In last clear chance, one side knows what the other party has already done.

iv. Since ∆ cannot say he thought Π was acting cautiously; e.g. conductor saw pedestrian on the railroad tracks
e. Last Clear chance is no longer majority rule ( only needed in jurisdictions that still have contributory negligence.

IV. Comparative responsibility

a. Unfairness results from Cont. Neg. - Recognizes that last clear chance is just an exception

b. Impure comparative responsibility ( Once P is over 50% responsible, there is no recovery at all
c. Pure approach ( Even is P is 99% at fault, can still recover
d. Equal division rule ( each party pays 50%; Easy rule to apply
e. Comparative fault is a misnomer: We’re not comparing fault; we’re comparing responsibility (degree of risk creation) – both are at fault.
f. Problem: no concrete formula to apportion damages.  How do you divide it up?

g. Theory: B >PL ( ∆ assumes risk because he is getting some type of subjective benefit

V. Assumption of Risk

a. Elements
i. Knowledge of risk

ii. Voluntary choice to face it

b. Analysis: Row three gets knocked out.  Think about case in terms of Row 1 and Row 2.

c. Analogous to last clear chance doctrine  - Asymmetry of knowledge 

i. ∆’s knowledge of Π’s plight in last clear chance

ii. Π’s knowledge of what ∆ is doing in assumption of risk

d. Contracts: Assumption of risk must be implied by circumstances surrounding contract (Π must have knowledge of risk) 
e. Primary vs. Secondary Implied Assumption of Risk
i. Primary: get in car knowing that the brakes don’t work well ( bars recovery
ii. Secondary: I’m in car already, and I find out breaks don’t work.   I can get out w/o endangering self, but I stay in ( not a defense in comparative responsibility jurisdiction
1. voluntary informed choice

2. D already breached duty

iii. SAR Shows that courts want to throw this all into comparative fault, but in PAR cases, they just can’t get there

iv. Not a defensible distinction, but it’s still invoked.
f. Policy Argument ( no assumption of risk creates uniformity of precaution which is socially undesireable (e.g. no Black Diamonds).
i. Allow reasonable actors to make informed decisions
VI. Charitable Immunity
a. Quid pro quo rationale: 

i. non-profit must be giving me a gift

ii. quid pro quo is they get off from neg liability

b. Faulty Rationale:
i. Non-profits benefit society.  

ii. Liability causes bankruptcy and denies benefit to society

iii. Discourages charitable activity

iv. How does this differ from private organizations w/ socially valuable activities?

v. Courts end up abolishing immunity (hard to justify)

a. Analog to duty of rescue

i. Must rescue w/ reasonable care (if you have no duty)

ii. Jurisdictions are hesitant to impose negligence liability (e.g. doctor is conferring gift on person in need) - threat of  liability will deter people from rescuing

iii. Likewise, we are worried that negligence will deter charitable acts

c. relief from ordinary negligence (not gross negligence, intentional torts)
d. Abolished in over 30 states; other cut back on doctrine (e.g. abolished for charity hospitals)
VII. Family Immunity
a. Two common Law immunities: between husband and wife (Interspousal) and parent child.  Neither side can bring tort action against the other.
b. Spousal abolished in over half of states; other states partially abolished (e.g. not applicable for personal injury)
c. Parent Child abolished in many (thought not most) states
VIII. Sovereign (government) Immunity

a. Reasoning:
i. don’t want court to have power over governmental officials

ii. In effect common law court would determine policy decisions by exec officials and legislators

b. Discretionary Function ( No liability for high level policy-making decisions

c. Priprietary function ( no immunity for revenue generating function such as hospital, airporst

d. Acting w/in scope of duty: Legislators and judges usually get broad immunity
e. Must be waived through statute
f. Routinely waived to extent that conduct was ordinary conduct
i. Question: When is conduct legislative or executive, and when is it “ordinary conduct?”  “discretionary choices” are the hard cases

g. Questions:

i. Was gov’t actor involved in discretionary function (policy judgment)?

ii. Was gov’t actor involved in other function?
h. Arguments for D focus on liability impact on policy decisions

i. courts are more prone to find sovereign immunity

ii. Determine argument by understanding reason for immunity

Damages
I. Evidentiary standard
a. Must show with reasonably available evidence that physical injury caused the damages in question
b. Foreseeability and directness are irrelevant
c. just a causal question (burn must be cause of cancer)
II. Collateral Source Rule:  Jury can’t know if Π has insurance that will cover the injury.
a. Insofar as P gets tort award for med. Expenses, insurer has right of subrogation to go after ∆ for payment of med. Bills ( loss lies w/ tortfeasor as opposed to insurance
b. Some jurisdictions have abolished collateral source rule
i. Why should P get a windfall?
ii. Problematic nature: NOT reducing any costs in society, just shifting loss onto insurance company:  Raise insurance rates, Bad incentive properties, Bad distributive properties
III. “Eggshell skull rule” ( Take the victim as I find him.  Appropraite in either foreseeability or directness jurisdiction
IV. Calculating Damages and Judicial Review
a. Pain and suffering ( hard to put figure on it (“guestimate”)
b. Remittitur: When jury award shocks the conscience Judge offers P choice of lower award or new trial.  Eliminating Remittitur would make judge sit through new trial; no easy way out
c. Additur: Corollary: judges offers D to pay higher damages or new trial

i. USSC ( this is against Amend VII re-examination cause, but remittitur is OK

ii. From P’s perspective, new trial may mean not getting anything
V. Wrongful Death Cases
a. Common Law Rule ( personal cause dies with the person
b. Worst possibility injury has no liability whatsoever, but serious injury in compensable.
c. Survivorship ( damages up to death (brought on behalf of decedent, damages paid to estate),
i. Example ( decedent lives after accident and incurs expenses, pain and suffering up until the point of death.  
ii. Cases in which there was a brief period of time when decedent knew of impending injury, and was distressed because of this, e.g. airplane crashes
d. Wrongful Death 
i. economic loss ( Loss of financial support
ii. Loss of consortium:
1. Early on ( husband has rights to wife’s services.  Economic damages when he can’t have access anymore.
2. Today ( broader view of damages: love, companionship,etc.

3. Body of law reflects confusion in tort law about damages.  Ambivalence leads to odd formulations of rules, e.g. love is an economic loss
e. Actions are derivative of decedent’s actions against ∆.  
f. Defenses will also apply to wrongful death claim.
g. Wrongful Death and Survivorship are Legislative remedies: no action at CL
VI. Punitive Damages
a. Factor in assigning punitive damages:Malice
i. Actual malice

ii. Wanton disregard

iii. Reckless disregard

iv. NOT gross negligence (in this jurisdiction)

b. Justification: force P to respect D’s rights
i. Deterrence ( connection trespass cases

ii. Forces moving B<PL calculation to B << PL

iii. Compensation of extra safety for non-compensable injuries

iv. circumstances in which compensatory will be insufficient to protect the right
Products Liability
I. In General
a. Rationale: best protection of consumer interests; no Interpersonal conflicts of interest

b. Cost Benefit Reasoning
i. Fairness corresponds to efficiency

ii. Both costs and benefits are internalized by consumer

1. B ( higher product price (cost to consumer)

2. PL ( Greater industry (consumer pays for injuries

iii. B >PL ( consumer would prefer less costly risk

iv. B < PL ( Consumer prefers safer product at higher price

c. Prod Liability is a fairly  new field of law (created in 1960’s) and has become most important form of regulation to business created by tort law

II. Escola (Coke bottle case) concurrence and Strict Liability
a. McPhaerson eliminated need for privity

b. Notion of implied warranty  - product fit for ordinary use

i. not expressly written in contract

ii. implied by transaction itself ( putting food onto market place is making a representation that food is fit for consumption

c. Tort rather than contract doctrine

i. Buyer not in a position to off-set danger of risk

ii. Security interest ( relying on work of seller; foreseeable that someone besides initial buyer would use/be harmed by product

iii. Fact that defect causes physical injury is what creates the tort problem (reliance interest)

d. Strict Liability/evidentiary rationale

i. Quality control process across the board – not a particular precaution across the board ( system problem
ii. evidentiary burden ( if we require seller to prove negligence on these grounds, he will never win.

e. Entire court adopts Traynor’s logic in Greenman (power tool case).
f. Restatement Second §402A
i. P has to show:

1. that there is a defect

2. Defendant sold product

3. Defect had to have been present at time D sold it ( no substantial change since

4. question about “unreasonably dangerous

ii. Originally drafted for food products, but extended in light of Greenman
g. Cronin ( Hasp breaks on bread truck.  Does away with unreasonably dangerous requirement.  

i. Don’t want clever lawyers making distinctions between design and manufacturing defects

ii.  “unreasonably dangerous” happens regardless of care exercised

iii. If you stick with “unreasonably dangerous” requirement, then you’ve turned back to a negligence standard – there is no separate meaning for SL

iv. Attempt to focus more on consumer expectations

h. Strict Liability won’t do the trick for certain products cases (e.g. airbags).  Hard to show that a care w/o airbag is malfunctioning

i. Justification for Strict Products Liability
i. make manufacturer internalize the costs, then it’s on manufacturer to determine whether or not it will take risks.

ii. Once we move liability outside of foreseeable risks, we will no longer be influencing safety decisions ( liability becomes form of providing insurance

1. Consumer would prefer insurance from other sources

a. Developed insurance markets today

b. High costs, long time, and uncertainty of litigations

III. Manufacturing defect ( 
a. defect in construction - compare with prototype/product spec

b. deviation from intended design makes seller strictly liable

c. Manufacturing defects and circumstantial evidence 

Must prove:
i. kind of injury that would ordinarily occur as a result of defect; and
ii. was not, solely the result of causes other than product defect

iii. probability of defect causation >50%
iv. Link defect to defendant
v. (compare to Res Ipsa)
d. Evidence is often destroyed (evidentiary problem and SL)
IV. Design defects

a. existing system wasn’t as good as alternative system proposed as plaintiff

b. IF P can prove that alternative design is reasonable, then manufacturer should have adopted this design instead of existing design

i. existing design imposes unreasonable risk

ii. P will propose alternative design and prove design is reasonable

c. Often involve complex engineering decisions – is the jury a competent decision maker?

d. Scope of liability expands dramatically ( Design defect applies to entire product line
e. Much greater stakes coupled with harder inquiry

f. Majority approach (NOT California)( Rely on risk/utility test

i. Unreasonably dangerous sticks and matters for design defect cases

ii. Risk utility ends up being a laundry list of factors

1. Safety of alternative designs

2. Feasibility of alternative designs

3. Other products adopted

4. Cost-effectiveness of current design

iii. Captured in B<PL calculation (e.g. airbags)

1. B - -increased costs of including airbags (fixed and marginal costs); additional risks created by airbags  (children hurt); decreased functionality (guard on  machine makes it harder, causes jams)

2. PL = reduction in risk given air bags

iv. Burden shifting - ∆ must prove that design is not defective in risk/utility test – not followed by most courts
1. move in direction of SL 

2. No practical effect on Π w/ good evidence: Π with good evidence would not want to save evidence for rebuttal.  Doesn’t want to allow ∆ to set the agenda and anchor the jury where it wants to

v. Shortcomings: juries don’t like to hear about companies trying to save money – should be framed in terms of consumer expectations: consumers desire cost/benefit

g. Consumer expectation test
i. foundations in implied warranty

ii. departure from what ordinary consumer would expect

iii. Develops as minimum standard in later cases

iv. Shortcomings (
1. Information gap Consumer may not know how safe the product could be/should be – expectations  not always as demanding as they should be
2. Reliance on expectations will not lead to safe products (manufacturers won’t add safety features unless consumers are willing to pay for it)
v. Confusion of Duty and defect: To say “ordinary consumer expectations” completely ignores that it’s those expectations which make for duty in the first place.  If those expectations are satisfied, no duty exists.  When frustrated, there is duty.  Can’t say duty and defect (breach) are defined by same element.

vi. CA Rule: Consumer expectation test when jury is able to identify defect without expert testimony
vii. Reasonable expectations ( lead us back to risk/utility
h. NOTE:  Both tests focus on nature of product, not conduct of ∆
V. Comment K in Restatement

a. Addresses unavoidably unsafe products

b. Don’t SL for a certain category of construction/manufacturing defects:

i. Modern example is contaminated blood

ii. A lot of people got AIDS because of contaminated blood

iii. Would result in SL for sellers

iv. Blood banks would close

c. Some products are essential to public health and safety.  Due to common defects, SL will disrupt products market.  The world will be less safe.  We’ll fall back on negligence liability

VI. Warning Defect

a. manufacturer failed to warn consumer of the dangers of product

b. Based on lack on knowledge ( ordinary consumer doesn’t know about the risk

c. Remedy for informational problem is to force maker to provide the information; analog of informed consent
d. Turns on Causation:

i. Π was unaware of risk

ii. Π would have heeded warning

e. Requirement s for warning:
i. Foreseeable risks
ii. Not commonly known
iii. Would reduce the risk of harm to consumer
iv. Warning must be adequately designed (most significant warning must be up front)
v. Will lead to better decision-making by consumers
f. Limited by information costs associated with too much warning (
i.  If we require warning for everything, people will stop reading warnings altogether
ii. Crowding out effect – each warning makes warnings less effective over all

g. Duty to warn: Does obligation to warn depend on knowledge at time of injury or at time of trial?  Should there be SL or negligence?
i. Rule:  Π has to show that manufacturer knows about risk, and if risk wasn’t known, manufacturer should have known about it!
ii. Effect of  strict liability ( liable for failure to warn even if manufacturer didn’t know about side effects.
1. evidentiary problem ( Consumer can’t prove what’s a reasonable risk
2. Once you learn about risks, you can warn and reduce liability costs
3. Chain of events set off by SL: Strong incentive to test (  Testing discovers carcinogens ( Warnings/don’t release drugs ( Safer world
iii. Insurance problem
1. Risks are unknown and therefore uninsurable
2. It will be prohibitively costly to get this safety effect (will increase product prices by so much that it’s not worth it)
h. Learned intermediary Doctrine ( Any time that decision maker is somebody besides Π, we focus on warning’s effect of behavior of decision maker (medical context
i.  Motus v. Pfizer - Π loses because warning wouldn’t have affected doctor’s behavior
ii. Hot issue:  Will advertising overwhelm the learned intermediary rule?
1. Drug advertising to consumer leads patients to ask doctor for specific drugs
iii. Doctors are now getting request from patients for specific drugs.  
iv. Over-promoting the drug implies that consumers are active participants in the process, so you have to warn them, too.
i. Heeding Presumption ( Court presumes that Π would have read and heeded the warning.
i. shifts burden of proof to ∆ 
ii. Presumption doesn’t mean that Π wins (not SL)
iii. In Motuss,, heeding presumption wouldn’t work ( ∆ could prove that Π woldn’t have acted differently.  ∆ would just get evidence that Π would not have read warning.
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